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Geometry in the Coordinate Plane
Name: Date:

Writing Equations of Lines: y = mx + b

Writing an equation of a line given m and b.
A. Substitute slope for m and y-intercept for b.
B. Simplify the equation.

1. Slope is -5 and y-intercept is 2. 2. Slopeis -1/2 and y-intercept is -2.

3. Slopeis 0 and y-intercept is 3. 4, Slopeis 1/3 and y-intercept is 0.

— ———— m
Writing an equation of a line given a graph.

A. Use any 2 “good" points on the graph to find the slope, m.

B. Find the y-intercept on the graph, b.

C. Substitute slope for m and y-intercept for b into the equation y = mx + b.
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Geometry in the Coordinate Plane
A S
Writing an equation of a line given m and a point.

A. Substitute slope for m and the point [, y} into y=mx+b and solve for b.

B. Substitute m and b back into the equation.

13.m = 2 and Point: (2, 3} 14.m = 1/2 and Point: (4, -3}

15.m - -2 and Point: (-5, 3) 16.m = 4 and Point (1, 4)

17.m =% and Poinf: (-1, -2) 18.m =2 and Point {0, 3)

19.m =3 and Point: (3, 0} 20.m = undefined and Point (3, )

.~ """ """~~~
Writing an equation of a line given TWO poinis.

A. Use the slope formula fo find m.

B. Pick one point, substitute slope for m, the point {x, y) and then solve for b.

C. Substitute m and b back info the equation.

21.(2. 3) and {4, 5) 22.(2,3) and (-4, 15) 23.(2,2) and (0, 4)

24.(2,3) and {1, 4) 25.(4, 5) and (5, 2)




Name:__

Writ io Li Tws Poi Pate: Block:
Find the slope and +he y-intercept, avd then write the equation of +he live.
V=¥ Solve for b write the equation y =
m—xz_xl Yy=mx+b m+ b
1 (1, 5) and (2, 7) y=pK+ b
m = ' '
2. (0.1) and (3, -8) y =+ b
m =
2. (2,-3) avd (4, -2) Y=+ b
W =
4. (2,5) and (4, 2) =K+ b
W =
5. (-3, -5) and (-, 3) Y=+ b
M=




_h=» Selve for b write the equation y =
x5 -x y=wmx+b okt b
G. (3,-1) and (-6, -4) Y=+ b
m=
7. (4,1) and (-4, 7) y=ux+b
m =
B (1, 2) avd (3, 4) g = MK+ b
m =
a. (A, -4) and (2, 0) =+ b
m =
10. (3, 41) avd (-3, 5) Y= MK+ b
m =




Warm up

Write an equation given the following info:

Lm=2 {9,-1} 2 (2-1) (23
3

3. (-2, 48] {2 8)

4. m=0 (3, 4}

+ Graphs: Unes Iniersect at right
angles {90° angles)

» Equalions:

Opposite (negative} Reciprocal
Stopes

With the same or different y-int

Are these lines parallel, perpendicular, or
neither?

l.y=-2x+1
y=-2x-4

2. y=3x-4
y=-3x+1

y=1/5x+2
y=-5x+4

« Graphs; Lines Never Intersect and are
in the saume plane (coplanar)

« Equdlions:
Same Slopes
Different y-intercepis

Find the Opposite (negative)
Reciprocal Slopes

1 -2 2 4
3 12
3.7 4. —l
9

4

Are these lines parallef, perpendicular, or
neither? 4.y =-2x+1

y=-1/2x-4

5y=3x-4
y=1+3x

6.y=5/6x+2
y=-6/5x+6




How to Write an Equation of a Line
PARALLEL Yo another and ghven o point

Write a line pargllel to the line
2x + y = 3 and passes through

1. Given equation should be solved for the point (-2, 5).
Y(y = mx +b)

2. Wrife down the siope of that fine

3. Substifute m and (x, y) iny = mx + b.
4. Soive for b,

5. Write the equation using m and b.

7 8
Write a line pargilel to the line Write a line parailel o the line

y = 3X -5 and passes through y = -4x + 1 and passes through

| the point (-5, -2). the peint (2, -1)}.
9 10

How to Wrile an Equation of a Line

Write a line pargilei to the line PERPENDICULAR to ancther and given a noint
Yy = -x =7 and passes through
the point (-4, -4). _ 1. Given equation should be sclved for

y {y =mx + b)

2. Write down the OPPOSITE
RECIPROCAL slope of thet line

2. Substitute m and (x, y) in y = mx +b.
4, Solve for b.
5. Write the equation using m and b.

11 12



Wirite aline perpendicular to
the line y = 2 x - 2 and passes
through ihe point (1, 0).

13

Write aline perpendicular to
the line 2x + 3y = ? and passes
through the point (é, -1).

15

Write a line perpendicuiar to
the line y= —-% x+2 and passes

through the point (5, 1).

17

Write a line perpendicular to

fhe line y = -3x + 2 and passes
through the point (4, 5). Leave
the equation in standard form.

14

Write a line perpendicylar fo
the line y = 2x - T and passes

through the point (2, 4).

18




Connecting Algebra and Geometry Practice

Name: Daie:

Determine if the following equations are parallel, perpendicular, or neither
1. y=—=x+4
y=—x-3

2. y=2x+7
y=—2x43




Connecting Algebra and Geomeiry

Write the equation of a line parallel and a line perpendicular to the given equation

9. y =§x+1 (-3,4)

10. y=4x+2 {(-8,-3)

11. y=233x+1 (-6,1)

12. y=_?5x—3 (10,-3)

Praciice




Name: Date:

Equations of Parallel Lines

A. Determine whether the lines are paraliel given the equations.

1) y=-2x+5; y=2x-3 2) 3x-8y=-16; 32X+ 12y =-18
3) Ix+3y=12; 27x+ 9y = 40 4] 3x-4y=19; 8x+éy=12
8. Determine whether the lines through the pairs of points are parailel.
S} {2, 5}and (-2,7); (0, 4) and (1, &) &) {1,2)and (5, 4); (0, 3) and {2, 4}
7} {0, -5) and (2, -4}; (-1,-5) and {1, -¢) 8) {0,2) and (-4, 8); (-4,0) and (4, -12)

C. Find the equation of a line through the given point A that safisfies the given condition.

9] Point A {2,1); paralie! to the y-axis 10} Point A{2,-4); parallel to the line

X =2y =4,

10



Standard Form of a Circle

: -
| Graphing and | (x=h) +(y -k) =

| Writing Equations| Center is at (h, k)

| ofCircles |

e e s T R ey

ris the radius
of the circle

General Form of a Circle General Form of a Circle

» Every binomial squared
Ax?+By?+Cx+Dy+E=0 has been multiplied out.
» Every term is on the left
side, equal to 0.
» Squared terms go first in
alpha order.

3 4
EX 1 Write an equation of a circle with EX 2 Wrile an equation of a circle with
center (3, -2} and a radius of 4. cenier {-4, 0} and a diameter of 10.

(x=h)’ +(y ~k)* =17 (x=h) +(y -k)" =1

11




EX 3 Write an equation of a circle with
cenfer (2, -9) and a radius of/11.

(x=)’ +(y =k’ =

5. Find the center, radius, &
equation of the circle.

TET T
il

TT
| B3
i
T

The center is e : .

T

!
I

T

T

The radius is

The equation is

T T T

=T
IENESNN

7. Graph the circle, identify
the center & radius.

{(x-3p+{y-2)2=9

Center &
Radius of 2
M. 2} ¥
%
11

12

EX 4 Find the coordinates of the center and
the measure of the radlus.

(x=6)"+(y+3)" =25

4. Find the center, radius, &
equation of the circle.

The centeris -
The radius is J*t
The equation is iy T 1
SPHT
Aaf

10

Converling from General fo Standard

1. A needsto be 1. Divide it needed.

2. Move the x ferms together and the y
terms together.

3. Mova E to the other side of the equals
sign.

4. Complete the square (as needed) for x.

. Compiete the square(as needed) fory.

&. Factor the left & simplify the right.

n

12



8. Write the standard equation of the circle. .

State the cenfer & radius.
¥ +y?-8x+7=0

13

10. Write the standard equation of the circle.

Stale the center & radius.

2x* +2y* ~16x+4y+20=0

15

13

9. Write the standard equation of the circle,
State the cenfer & radius.

X+ Y +4x-6y-3=0

14

11. write the general form of the equation
of the circle.

(x-4)2+(y+3)2=36 .

16




Name:

Date:

Graphing & Writing Equations of Circles

Graph the following circles. State the center and radius.

24 y? s} 2.2 4
1. X"+y*=9 ° 2. x*+y?=20 5
Center: : Center: .
' - o e
Radius: EEEEEED 15 6> | Radius: I EREEEED 5§ 0
1 3
% & 1
3. X2+\/2=25 R
& 2
. 4. (x+2) +y*=16 *
Center: 3 :
. b Center: 3
Radius: . .
EEEEEXD 158 | Radius: 4 .
i EEEEEED 56
I_i
2 2
5. (x+4) +(y-6) =64 2 2
A 6. (x-3) +(y-5) =50
- A
Cenier: - &
i Center:
=
Radius: . Radius: .
-
ST E TR T AR RN _ .
P *TRIE K
[ 4 L
M Ll
]

14




Wirite the equation of the circle in standard form. Then, convert fo the general form.

3

=]
7

7. Standard Form: ¢

General Form:

8. Standard Form:

EPEX] ?a(z‘l 3

X

-+

General Form:

Write the standard equation for the circle. State the center and radius.
9, X +2X+y*-10y+10=0 10, X2 +y?—4x+6y+9=0

11.7%%+7y* - 28y +14=0 12, 32 +3y? +18x+6y =0

15




Geometry Name ID: 1

© 2016 Kota Software LL C. All righkts reserved.

Assignment Date Period

Identify the center and radius of each. Then sketch the graph.

D (x+3)°+y" =4 D x+1P+(+2) =1
4 24

T

-

= =2

t:
2]

g | 6 k| b )] x B |6 | |1 *
a1 3
- 4
v -4
Use the information provided te write the equation of each circle.
5) Center: (-3, —6) 6) Center: (2, 9)
Radius: 8 Radius: 5
7) Center: (—11, 13) 8) Center: (—4, 16)
Radius: 3 Radius: 2
9) iy 10) )
e 2 |

T
N

$ B A
e ] o - -
=25 -“# S 2 - i x
3 =1
%
@ 2016 Kutz Sofcware LLC. All rtights reserved . Made with Iofinite Geometry.
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Quiz Review

QUIT REVIEW :)

Write the equation of a fine passing through the given point that safisfies the following condiiion:

1. Parailel to 5x - 2y = 4 2. Perpendicular to -3x + 2y =7
passing through [-4.2) passing through {6,5)

Write the standard equation of a circle with the given radius:

3.r=4:C(0.0) 4.r=2.5:Cl-21) 5.r=24; C(-3,-3

17




Quiz Review

Graph each circle, labeling the center and radius.
6. X+y =9 7. X+ (y-5)2=16 8. (x-3)7+ [y+3)?= 25

el o o e e e e

'

Write the standard equation of each circle. Then state the center and radius.

9. X%+ vy - 10x -1y + 88 =0 10, x2+y2+ 29x -2y =-120

18



Quiz Review

Graph:

L [x-42+[y+2°=16

i
2 T 4

1 i F

} LI

- :

: i

1 R i
J -
t :
. L 7 !
UL ! . -
i . .
sornd o e o
:

19




Write the equation of the line:

1. Parallel fo 8x -2y = § and goes
through (5, -2)

Midpoint Formulag

Find the midpoint.

3. (3. -9)

4. (12, 17) and (-7, 9)

20

10/28/2020

Midpoint

Given 2 ordered pairs,

ii's the
AVG of the x's and
AVG of the y's.

Find the midpoint.

1. (3,7) an

2. (5, -2) and (6, 14)

Find the midpoint.

S ) b




Find the midooint.

T
T
r;$
—+

A
-\

Midpt (-1, 2)
Endpt (3, 0)

Partition Line

Segments
(T Dimension)

i1

21

10/28/2020

Given the midpt and one
find the other en

Midpt (3, -¢)
Endpf (7, -3)

Civen the midpt and endpf,
finc er endpf,

Midpt (-4, §)
Endpt (2, 1)

10

Parfition ~ 1 Dimension

Adsat 1, andBis at 7.
Find the point, T, so that T parfifions A 1o BIn a 2.1 ratio.

{_f::lulu:nur,ur,nnll\
Mg 4 g g 2 4§ 3 1w

12




13

Partition — 1 Dimension

[xz - xz)[ c

a+b

Afsat-4andBis at 4.
Find the point, T, so that Tis A to B in a 2:3 ratio.

22

14

10/28/2020

Partition — 2 Dimension

o
(x’—x'(a+b)+x'

Given the paints A{-2,4) and
B(7.-2), find the coordinates of the
point P on the directed line
segment AB that paritions AB In the
ratio 1:2,

m



Name: Doter:

Partitioning Line Segments in 2 Dimensions Homework

MCC?-12.G.GPE.4 Find the point on q directed line segment between two given points that parfifions the segment in a given rafio.

1. Given the points A{~1, 2} and B(7, 14), find the coordinates of the point P on directed line
segment 4B that partitions 4B in the ratio 1:3.

2. Given the points A{-2, 4) and B(7, -2}, find the coordinates of the point P on directed line
segment AB that partitions 4B in the ratio 1:2.

3. Given the poinis A(-3, -4) and B(5, 0}. find the coordinates of the point P on directed line
segment 4B thaf partitions AR in the ratio 2:3.

4. The map shows a siraight highway between two towns. Highway planners want to build
two new rest stops between the fowns so that the two rest stops divided the highway into
three equal parts. Find the coordinates of the points af which the rest stops should be built.

= 3
stiford
)
pd X
8 A0 :
< i

i 5

I

Problems #5-9Adapted from: Walch Education Resources: CCGPS Coordinate Algebrs Teacher Resource Binder

1
i
i
é

23




Use the map and the information given o solve each problem that follows.

Thea ; |

o o]

]

;g“uuqmmwmna‘:ﬁmﬁﬁa‘ﬁdag"

Foffee $hop

v's D nops

Clave'§ Cookig Stre

sfadt

ll?4557€0!l’11211‘1|!1' W:x

e |

5. Luis works at a theater on 8th Avenue and 20th Sireet. Kaleb lives at the corner of 18th
Avenue and 4th Street. What is a possible location that is midway between them?

6. Nima lives at the comner of 4th Avenue and 4th Street. Bill lives af the corner of 10th
Avenue and éth Sireet. Their favorite bakery is located midway between them. What is
one possible of the bakery?

7. Cleve's Cookie Store is located at the comer of 2nd Avenue and %th Street. Dave's
Doorknobs is located at the corner of 12th Avenue and 14th Street. Located 1/5 of the
distance from Cleve's Coockie Store is the post office. Where is the post office?

8. Malik and Brad both live on 3rd Avenue. Mdiik fives at the corner of 1st Sireet, and Brad
lives at the comer of 19th Street. 2/3 the distance from Malik's apartment to Brad’s
apartment is a market. Where is the market?

9. The mdin enfrance to the high school is loccated at the comer of 17th Avenue and 19th
Street. On his way from school to the bank, Luis stops at the coffee shop located at
12th Avenue and 15th Sireet. The coffee shop is the midpoint of this frip. What is the
location of the bank?2

Problems #5-9Adapted from: Walch Education Resources: CCGPS Coordinate Algabra Teacher Resource Binder

24



Pythagorean Theorem

leg® +leg” = hyp’

Pythagorean Theorem Word Problems

* A square has a diagonal with length of
20 cm. What is the measure of each
side! Round to the nearest tenths.

2
Pythagorean Theorem Word Problems Pythagorean Theorem Word Probiems
* Ashley travels 42 miles east, then 19 » What is the length of the altitude of an
miles south. How far is Ashley from equilateral triangle if a side is 12 cm!?
the starting point? Round to the Round to the nearest tenths.
nearest tenths.
4
v : : : yio :
‘‘‘‘‘‘ e T The Distance Formula
ol A Q2,3 : ( )
ol A Lo (x.) 22 V2
/ — , . H— : ___
i{/ o x N .
cp-E B2, 3}t N I

D= \/((xz —x)" +(y, - yl)z)

25




Example Example

Find the distance between (1, 4) and (-2, 3). Find the distance between the points, (10, 5) and
Round to the nearest hundredths. (40, 45). Round to the rearest hundredths.
D=lCa =) +02-2Y) D=yl —%)* + (3 ~1))
7 8
3. Find the distance between the points. 4, Find the distance between the poinis.
Round o the nearest tenths. Round to the nearest tenths.
4 4
—3t
2 |
T "*Jf o :

9 ) 10

i1 12

26



Distance, Pythagorean, and Perimeter Name:
Directions: Find the distance between the following set of coordinates.

1.{7, 3}, -1, -4} 2.{3, -5), (-3, 0) © 3,16, -7), {3, -5)
4. {5, 1), {5, —¢] 5.(1, 4), (2. 5) 6.(-2.1). (1. 8)

Directions: Find the distance of the segment on each graph by using the Pythagorean
Theorem.

7. : 8.
: J 1A
. SN
. AN
A, TN
\
[ A
E"!ﬂl-l‘ ¢ 8 5 & Fsiili. l\li
A \
Ak .
Bl \s|
? . 10 ‘
. Al |,
: .-._--"‘"--.
] T X B
A : :
E £ a4 B 2 4 L & & R EREED 5 4 B

&

27




birections: Find the perimeter of the figure using either the distance formula or the
Pythagorean Theorem.

. T Ta
. ’ 12. .
c )
LA T T E
B * .
E $ #4 % 2 !‘ k8 F & # £ 2 1” S ]
. AL . B
’ C
13. * 14, N

. A L

R
i

. D ';.//
g ;
; B .
| N EL
| & ¢
! . :
i
!
15. " 18. "
& A Bc
) Gl |,
EEEEEN > 3 & B & 55[45:){1 s &
o 2 B / 2
3 D 3
- E./F F .
N D C -
28




10/29/2020

®
Area Perimeter
and Distance AROUND the shape
Perimeter
2
Area Area Formulas
pTriangle: A = 2 bh
Amount of space INSIDE the PRectangle: A = bh
boundary »Parallelogram: A = bh

Area & Perimefer
on the
Coordinate Plane

»Trapezoid: A =12 (b, + b,lh

Find the area.

1

4
-
™

it

29




Find the perimeter.

F

10/29/2020

. Find the perimeter.

[}

guss

y
AN

-

7 3
Find the area. . Find the area.
# [
] 2
P ) 4
9 10
Flnd The aread Clﬂd penmefer Find the area and perimeter.
! ¥y
3

1l s
g
a L
: |
6
5
'
a 3 .
2 et :
o A
8 12345678810

11 12

30



Area & Perimeter on the Coordinate Plane Practice Name:

Directions: Find the perimeter and area for each figure.

1) —4
&
3
P
|

2) .

1*.?- B IRERE] AW ﬂifa;_ A

i - : =
; . : : i

g > o Lo g g Lo d g

Perimeter: Perimeter:

Areq: Areq:

3) ' 4}

"I [P (R IR

1

=
L w fra fw Ja [ i3

!
e

-t :
; T T T ] i
oy i '
I} | 1
| T | ] |
P i H ! ! v
1 — : i
I-% ] |
Y

Perimeter: Perimeter:

Areq: Aredq:

5) T o S

Y
l- o

-
Ty [
Ig.wz

e

Perimeter: Perimeter:

Area: Areq:

31




Proofs of Quads in the Cpordinate Plane

Ways to Prove a Parallelogram:

1. Prove both pairs of opposite sides are parallel.

2. Prove one pair of opposite sides are paratlel and
congruent.

3. Prove hoth pairs of opposite sides are congruent.
4. Prove both pairs of opposite angles are congruent.

5. Prove one angle is supplementary to both of its
consecutive angles.

6. Prove the diagonals bisect each other.

Given A(2,2) B {(-4,-7) C (-2,-7) & D (14,-3)
Prove it's a parailelogram 4 different. ways 1

32



Proofs of Quads in the Coordinate Plane

To prove a quadrilateral is a rectangle...

1) First prove it is a parallelogram. Then prove parallelogram contains at
least one right angle.

OR

2) First prove it is a parallelogram. Then, the diagonals of a parallelogram
are congruent.

OR

3) You could prove that all four angles are right angles.

Given A(-2,3) B(4,3) ¢(4,-N and b(-2,-)

Prove ABCD Is a rectang!e 2
different ways Ty

33




Proofs of Quads in the Coordinate Plane
To prove a quadrilateral is a rhombus...

First, prove the quadrilateral is a parallelogram. Then prove:
1) First prove the quadrilateral is a parallelogram. Then, prove it has a pair
of consecutive sides that are congruent.
OR
2) First prove the quadrilateral is a parallelogram. Then, prove either
diagonal bisects two angles of the parallelogram.
OR

3} Prove the diagonals are perpendicular bisector of each other.

Given: A(-3,-4) B(5,-3) C(l,.1) and D(-7,3)
Prove it’s 4 Rhombus 2 ways

34



Proofs of Quads in the Coordinate Plane

To prove a quadrilateral is a square...

Prove it is both a rectangle and a rhombus!

**HINT...prove 4 right angles & 4 congruent sides....

Given A(LD) B(Z,-D ¢(5.0) D(4.3)
Prove ABCD Is & Square

2]
3 A
24

{

35




9.15 HW Parallelogram and Rectangle Proofs

Name:

Directions: Identify the Quadrilateral PQRS, with the given points. SHOW ALL WORK!!!

1) Plot Quadrilateral PQRS: P (-1, 2) Q (2, 4) R{(3,—1) 5{0,-3)

2} What shape does it appear to be?

3} What do you have to show?

4} Check off all that apply:

____opposite sides parallel
consecutive sides perpendicular
four congruent sides

acen. Only 1 pair of opposite sides parallel

Congruent legs

two pairs of congruent sides (consecutive)

5} Which shape is it?

5

3

-k

6) Why?

7) Plot Quadrilateral ABCD: A(0, 2), B{6, -2}, C(4, —5), D(—2, -1}

8) What shape does it appear to be?

9} What do you have to show?

10} Check off all that apply:

opposite sides parailel

consecutive sides perpendicular

four congruent sides

Only 1 pair of opposite sides parallel

Congruent legs

two pairs of congruent sides (consecutive)

11} Which shape is it?

=) g g

a3

12) Why?

36




Directions: State the ordered pair that is needed to make the following figure.

e b I

13) PQRS wili be a parallelogram; : ﬁ ' 14) DEFG will be a rectangle;
P(zr 2)1 Q(S) 1)1 S(_ll _2) : [ 2 D(O, 3}: E(Z, "1)1 F(OI _2)

Directions: Solve each problem.
15) Prove that ABCD is a parallelogram when A(-2, 2}, B(4, 3}, C(2, -2}, & D[-4, -2}

16} Prove that RSTV is a rectangie when R(1, 1), S(2, 4}, T(5, 6}, and V/(4, 3)

17} Determine whether ABCD is a parallelogram, a rectangle, or neither
when A{1, 1}, B(2, 4), C{5, 6), & D(4, 3).
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Rhombi and Squares Proofs Name:

Directions: Identify the Quadrilateral PQRS, with the given points. SHOW ALL WORK!!!

1} Plot Quadrilateral PQRS: P(1, 1) Q{4, 3) R(6, 0} 5{-3,-2) 5
§

2} What shape does it appear to be? 3

3) What do you have to show? ;

’ L 2.

- '~y T - Y

4) Check off all that apply:

opposite sides paraliel

consecutive sides perpendicular

5} Which shape is it?

four congruent sides

?
Only 1 pair of opposite sides parailel 6) Why:

Congruent legs

two pairs of congruent sides (consecutive)

7} Plot Quadrilateral PQRS: P(1, 2}, Q(6, 2), R(3, -2}, & S{-2, -2).

8) What shape does it appear to be?

9) What do you have to show?

10) Check off ail that apply:

opposite sides parallel

consecutive sides perpendicular

four congruent sides 11) Which shape is it?

Only 1 pair of opposite sides parallel 12) Why?

Congruent legs

two pairs of congruent sides (consecutive)
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Directions: State the ordered pair that is needed to make the following figure.

13) Rhombi ABCD when A(-11, 0), B(-1, 0), C(8, 6) 14) Square ABCD when A(0, 4), B(1, 1), C(4, 2)

| I ! 4 ,
4 [ 1 3 !
3 ; H 1
2 j ! |
i | i 2
. ‘S;i-s-* R t I
i . T 15 ! -
i -3
i 3 &
{ B \
i i N
o o £}

Directions: Complete each proof.

15) Prove 2 different ways that ABCD is a rhombus when A(1, 3), B(=3, 0), C(0, -4), and D(4, —1).

1%t Proof: 204 Proof:

&
5 | ‘3
X o

) 3
% 3
{ i

ﬂ-% £, ,l: £ T3 4 1§ '1-6 [ ﬂunj 7 z?&ﬁfp

4 5 ;

16) Is ABCD in question #15 a square? Justify your answer with an informal proof.

Wb |

L

g 1wk

&
]
al
X
L l-
™
£l
P
. “%M
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Geometry in the Coordinate Plane

Name: Date:

Algebra Proofs
A A e S e S A ———
Distance Formula: d =4/(x, ~x)? +(3, - »,)? Midpoint: [_"1 ;xz A “2“3’:}

1. Quadrilateral ABCD has vertices A(~1, 3}, B(3, 5), C(4. 3), and D(0, 1). Is ABCD a
rectangle?

R —

2. Do these points form o parallelogram? A (3, 1B (-1.-2); C (-4.-2); D (-2, 1)

N " . e PP P
3. Circle C has a center of (-2, 3) and a radius of 4. Does point (-4, é) lie on circle C2

4) Find the point P that partitions the segment between points E {1,7) and F(11,-3) into a
3:2 ratio.

5. Do the points A(-1, 1), B(1, -4) and C{-4, -4) form an isosceles fiangle?
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Name; Date:

Algebra Proofs Practice

]
distance =/(x, - %, +{y, -y,P midpoint = (xl ;xz R4 ;sz

1. A circle has a diameter with endpoints (-2, 6) and (4, 0}. Find the center and radius of
the circle.

2. Point C is the midpeint between points A and B. If point Cis af (-4, 10} and Point A is
{4, 8), what is the Point B2

L
3. Circle C has a cenfer of (-2, 3) and a radius of 4. Does point (-4, 6} lie on circle C¢

4. A circle is centered at (5, 3) and has a radius of 4. Does the point (2.5, 6) lie on the
circle?

41




Name: Per; Date:

Coordinate Plane Review

Graph the following circles. State the center and radius.

1. x2+y?=24 o _2)? =
Y : 2. (x-2) +(y+3) =30,
M) :
; EEEED *
Center et~ T3 33456 | Center: 2
Radius: 2 , 5
3 Radius: €
G" ‘.9"

’

Write the standard equation for the circle. Wirite the general form for circle.
3. x2+yi-10x-2y =-10 4, (X=2P+[y+1P2=9
Center: andr=

5. A circular disk drive has a diameter with endpoints at (-9, 2} and (15, 12}. Find the
center and radius of the disk drive. Write the equation of the circle in standard form.

Cenfer:
r =

Equation:

State the center and radius: 4V 2_
_ . . 7. Graph: (x—4) +(y+1) =16
(x=3) +(y+5F =36
&
st
TXED EENNENM

LK X R D

"X
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GSE Geometry Unit 8 - Geometry and the Coordinate Plane 8.9 -~ Review

8. Determine what fype of quadrilaterai is shown: 4
o - t
BRI
a} Find the perimeter and area of the shape.

9. Find the midpoint of the points.
a. (-5, 3) (2. é) b. (3, -2) (-1, 5)

10.Find the coordinates of the other endpoint of a segment with an endpoint of (-1,5)
and a midpoint(2,-3).

11. Josh and Drake decide to play catch after school. They start at the same point. Josh
walks 50 feet north and 20 feet west. Drake waiks 40 feet south and 10 feet east. How
far apart are theye

™ hizl 0

12. Determine whether Point A lies on the circle whose
centeris Point C and which contains the FPoint P(0, 4). +
Justify your answer clgebraicaily showing work.

Point A(3, ¥7); Point C(0, 0); Point P(0, 4] e

T e SN
13.Find the equation of the line that is parailel to y = 2x + 8 that passes through (-6, 1).

14.Find the equation of the line that is perpendicular fo y = 3x + 1 that passes through
(?.5).

15.Find the coordinates of point T so that it partitions AB into a ratio of 1:3.
A (-8, -1) and B{12, 11}
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